Hml4A~3A]
H254E R C A & (ke) H264E R C & & (ke) ARC#HIEEE (ke) AR HIEFE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
w |48 973,940 872,670 -101,270 -10.40
w | 58 960,540 945,400 -15,140 -1.58
Z | 68 868,220 924,350 56,130 6.46
# [ 1R 1,048,900 1,051,410 2,510 0.24
2| gh 1,030,340 1,009,020 -21,320 -2.07
AT 952,720 1,018,210 65,490 6.87
A | 108 938,190 877,310 -60,880 -6.49
§ | 11A 898,990 856,870 -42,120 -4.69
3 [ 128 983,320 1,035,380 52,060 5.29
A 1A 893,220 844,410 -48,810 -5.46
— | 28 648,750 709,340 60,590 9.34
38 848,730 883,860 35,130 4.14
&t 11,045,860 11,028,230 -17,630 —0.16
iy 920,488 919,019 -1,469 -
wwd4A~3A]
H2545 BEAC# & (ke) H26 45 BEAC# & (ke) BRCHi8m = (ke) AR #HHPE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
4w | 48 70,190 88,070 17,880 25.47
x| 58 186,120 161,310 -24,810 -13.33
Z | 68 203,770 219,340 15,570 7.64
# | 18 6,850 8,920 2,070 30.22
2| 88 85,460 89,340 3,880 454
'; 98 249,290 265,740 16,450 6.60
A [ 10A 59,740 59,400 -340 -0.57
s | 118 49,770 58,040 8,270 16.62
3 | 128 257,990 226,760 -31,230 -12.11
A8 117,280 102,390 -14,890 -12.70
— | 28 20,740 83,450 62,710 302.36
38 167,390 148,300 -19,090 -11.40
a5t 1,474,590 1,511,060 36,470 2.47
iy 122,883 125,922 3,039 -
M4 A~3A]
- H254E EE Sy H AR—13—8 (ke) H26 4 EE Sy AR—/5—8 (kg) SYHRR—/ - EE (ke) SYHRR—/A—HEEE (%)
Y (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
» 48 46,360 46,365 5 0.01
2| 58 40,040 39,226 -814 -2.03
~ | 68 37,750 31,158 —6,592 -17.46
| 78 37,200 34,461 -2,739 -7.36
'l‘ 88 34,970 36,160 1,190 3.40
g [ 94 33,470 32,770 -700 -2.09
—~ | 108 33,840 34,190 350 1.03
4 | 118 37,920 34,990 -2,930 -7.73
A | 128 43,030 43,950 920 2.14
S 1A 39,680 39,570 -110 -0.28
3 [ 28 21,430 32,890 11,460 53.48
A 3g 53,440 43,810 -9,630 -18.02
= [&nt 459,130 449,540 —9,590 —2.09
iy 38,261 37,462 -799 -
wwd4A~3A]
H254 B Z Dt TS5 (ke) H2645BEZ DTS5 (ke) T 0T SisE = (ke) T DTSR (%)
(A) (B) (B)-(A)=(C) (B)/(A) % 100-100=(D)
Z [ 4R 21,460 22,083 623 2.90
@ 58 22,800 23,331 531 2.33
5 | 68 23,430 19,822 -3,608 -15.40
5 | 1R 22,570 21,045 -1,525 -6.76
2| 8A 21,872 22,930 1,058 484
~ | 98 20,660 20,140 -520 -2.52
4 108 20,530 21,200 670 3.26
’f‘ 118 22,170 21,130 -1,040 -4.69
3 128 21,490 22,020 530 247
5 18 21,730 22,180 450 2.07
— | 28 14,300 19,440 5,140 35.94
3R 25,908 19,780 -6,128 -23.65
Ak 258,920 255,101 -3,819 -1.47
iy 21,571 21,258 -318 -
HRml4A~3A]
H25E ERRE (ke) H264E ERRME (ke) BERWIEEE (ke) BERWIEEE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
| 48 242,652 291,847 49,195 20.27
% 58 286,366 298,757 12,391 433
# | 68 190,578 225,597 35,018 18.37
g | 18 211,644 218,319 6,675 3.15
—~ | 88 189,704 220,022 30,318 15.98
4 | 98 187,235 245,723 58,488 31.24
A [ 108 276,086 287,169 11,082 4.01
S (118 237,355 259,287 21,932 9.24
% 128 230,564 281,413 50,849 22.05
1A 166,334 188,182 21,848 13.13
28 74,039 197,971 123,932 167.39
38 235,646 216,461 -19,185 -8.14
&t 2,528,204 2,930,747 402,542 15.92
iy 210,684 244,229 33,545 -




